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Math 30-1: Chapter 2 Review Assignment

Radical Functions
Answer the following questions.  Remember to show all your work.
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Sketch the graph of 
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 by creating a table of values and then sketching the graph. 
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2. Create a radical equation that has a domain of 
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 and a range of 
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3. a)  In order to sketch the graph of 
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, state the transformations that would need to be applied to the graph of 
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b) Sketch the graph of 
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 by applying the transformations you listed above.
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4. The graph of 
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 has been reflected in the x-axis, stretch horizontally by a factor of 4, translated 2 right and 5 down.  Determine the equation of the new graph.
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5. a)  Sketch the graph of  
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Sketch the graph of 
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c) How are the domain and range of the two functions related?
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6. a)  The graph of 
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 is graphed below.  On the same grid, sketch the graph of 
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b) Explain the strategy you used to sketch the graph of 
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c) State the domain and range of 
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d) State the domain and range of 
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e) Explain why the domain and range are different.
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7. State the coordinates of any invariant points when 
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 is transformed to 
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8. Determine the x-intercept of 
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, to the nearest hundredth, and explain its relationship of the zero of the function.
(RF13.5)
9. a)  Graphically solve the equation 
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.  Sketch your graph below.
(RF13.6)

b) Explain the strategy you used.
(RF13.6)
c) Algebraically demonstrate that your solution is correct.
(RF13.6)
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